Math 122 Sec FO9NO1 - Test 2 Oct 30 2009
Question 1:

(a)[6 points] Water pours into a tank at a rate of r(t) = 4 +¢* L/min where ¢ > 0. How much
water enters the tank during the first two minutes? State units with your answer.
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(b)[7 points] Determine the average value of f(z) = e®(® cos (z) over the interval [0,7/2] .
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Question 2 [10 points]:  Evaluate / arccos (z)dz = L
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Question 3 [10 points]:  Evaluate / Z
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Question 4 [10 points]:  Evaluate / 21 5a_1d dx L
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Question 5 [7 points]: Find a function f and the value of the constant a such that
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